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SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Discuss the significance of Financial management.

RAG i Cuararamwulder (sfusgesdmarn afleurs).

Calculate operating leverage and financial leverage for Maruthi
Limited, from the following information : :

Number of units produced 50,000

Selling price per unit is Rs. 50

Variable cost per unit is Rs. 20

Fixed cost per unit at current level of sales is Rs. 15

Interest on debentures Rs. 1,560,000.

Wemeumd geeudsmans Qsran® wrms Sl igar @uses Ceuddpen
wHpib HHuGid Qeuddper fweipdlaans samsdBHs.

2 pusd Qe L si@seian erameanflsams 50,000

G ader eflpuamar efleane ep. 50

<SG gendler wrpur’ G Qseay . 20

pLUiL Sfarey edpueenufen Flane oiL&s QFae| Q@ RaTNIGES €. 15
sLen LUFSrhisEpssnarn ey . 1,50,000.

X limited issued 50,000, 8% debentures of Rs. 10 each at a

premium of 10%. The cost of floatation are ,2%. The rate of tax
applicable to the company is 60%. Compute the cost of debt -

" capital.

X @l 50,000, 8% sLen ugfrmsamer ¢ 10 eigd 10%
poawsHd QeaeflliLg. oigen Wsmeu iLEE Qsoey 2%
Bowsdpeilu afl flsb 60% sl sl L sssdmans

sasSHE.

. The earnings per share of N limited are Rs. 15 and the rate of

capitalization applicable to the company is 12%. The
productivity of earnings (r) is 12%. o ¢

Compute the mark’ef value of the company’s share if the payout
is 20% and 50% which is the optimum payout?

N bl yenr Dwg ganssilu FLOs0sTms m. iS Gmgufo

Powsdpelu woga offsn 12% 2 pusdsEiu  eimeuri
(r) = 12%. figwsder LkiEsEpsE i shms wHlGmer 20% wHID
50% Qeavclaisfld samasdll () Qo erps Qsweland 2 sH5E aans

HTEHTS.
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Calculate the operating cycle of a company which gives the
following details relating to its operations :

Rs..
R-aw material consumptions per annum  8,42,000
Annual cost of production - 14,25,000
Annual cost of sales | 15,30,000
. Annual sales ) ] 19,50,000
Av,erege value of current assete held
Raw materials 1,24,000
Work-in-progress ' 72,000
 Finished goods 1,22,000
Debtors - 2,60,000

The company gets 30 days credit from its suppliers. All sales
made by the firm are on cred1t only. You may take one year as
equal to 365 days. :

o® Hpwsdar  CQewaour Gseiu  elurksedr  GeteumLory
emaﬂa;a;uuu@mmgj @gmaﬂa; Qsraw@® Geweur_ a‘.l‘,pmaﬂuﬁlmma;
saES(Hs.

- ¢f5.
ap@LIQLITmET BiEie amBsE 8,42,000
%Ggimq.sirr 2 PuSE I EED 14,25,000
a;bcl}oqu.dr elhLIenen BIL&SHD 15,30,000
< 6dldHLiener ) : 19,50,000
B Qerrggjé;a;aﬂch ggrefl wHuL L wg

“pouQurmleer ~1,24,000
reyQupr Geuaney iy 72,000

. pgeymp Ceuaned Ly 1,22,000
-sLenmaflgem - 2,60,000

Ppion g s76@ Sefluuaisal fimbg 30 Briserée s
Qupélpg. Powsden iwarsg eApumenid sLgusE wLHGW
QeuwinBADSI. S LD eranug) 365 prismards GHlEADg!.
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Rakesh Limited earns a‘profit of Rs. 10 per share. The rate of
capitalisation is 12% and the productivity of retained earnings
(r) is 10%. Using Gordon’s Model, ‘detérmine the market price per
share if the pay out is 30% and 60%.

prCaey AL QLI qém 2aE gemdlen m@mrru_l LG Qgrens - 10.
waorss Hfgb 12% CSLoguLo DB SHEEOAUESILL L GU(HEUT
&,rpug,ﬁ (r) 10% &mirLetmen @mmmmu ummu@g,g‘,] S Lkien FHeng
m@uﬂmm 30% whmib 50% LIBISTSTL ayPhiE Qﬁ]é]g,g,ﬁev &S (Hs.

Given the following’ 1nformat10n you are requ1red to compute

‘capitalization and capit4l structure

Rs.
Equity share capital 10,00,000
. Preference share capital 5;00,000

Long term loans 2,00,000
Retained earniﬁés‘ 6,00,00Q
.Capital surplus / 50,000
Current iiabilities ‘. 1,50,000

. { E
Gemau@pld saeudser 2 &g lalldaiul Gerag. Qsmans Qarar®

WaOTESSE enem b LHHLD padlen siewlibiaanb semrés (s.
5.
sflaw kG Wsd - 10,00,000
q,oc&rglﬂmm uhiGwsed 500,000
BewrL srev HLcnger 2,00,000
S&emeusHIULL eumeurls  6,00,000 -
psedlar 2 UM 50,000

Bty QUi ser 1,50,000
\ +

What are the advantages of adequate working c_apital?

Gurgwomen g;sm_q,om,r_n.(gog,aﬁeiﬂ [BETENLOSET WITF)?
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*SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

Explain the objectives of financial management.

BHuflwer Coeramanouden Crresbisamer 6lemdEs.

Samy company’s share is quofed in the market at Rs.' 20

" currently. The company pays a dividend. of Re. 1 per share and

investor’'s market expects a growth rate of 5% per year.
(a) Compute the company’s equity cost of capital

(b) If the anticipated growth rate is 6% p.a., calculate the
indicated market price per share

(c) If the company’s cost of capital is 8% and anticipated
growth rate is 5% p.a., calculate the indicated market price
if the dividend of Re. 1 per share is to be maintained.

smfl Bmwosdlen By shog S 5. 20. Aok <efl&@id

UBISTSTLLD Uk @aTmis@ oh. 1. GLogib (pgeSl Lmeniaer eréliumiéstb

gpeang euemirssl B pem(H&E 5%.

(=) Bmiwgden s WPsod SLGsD samsdHs

() eBuTESHLED aoried oiph PG 6% cralld Ui
anlen &g HE&TL_LLILGHW Fhang wHI9mens: sansd (s

(@) Powsdear wgdlar <L ssbd 8% Co@Ib erdiumTsslu@
auemiiESl eigid pam(HiEE@ 5% LG endler LRISTSTWLD 5. 1 eren
uproA&sLU@D Curg 2 dTeT sHas WELILIE SaTés (.

Calculate the operating leverage, financial leverage and the
combined leverage for the following firms and interpret the
results : '

P - Q R

Output (units) 3,00,000 75,000 5,00,000

Fixed cost (Rs.) 3,560,000 7,00,000 75,000
Variable cost per unit (Rs.) 1 7.5 0.1
Interest expenses ( Rs.) 25,000 40,000 Nil
Unit selling price (Rs.) 3 25 0.5
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Gemeu@pbd Himwsder Quiss Qawwdper, HHuluid Qewuadmer whmyb
RS oarhs QFuadpear g fueupdlenars saredl® w6 samer

cfleré 5.

P Q R
Qeueflun(® (i@ @Es6r) 3,00,000 75,000 5,00,000 -
flene 2iL_&sLb (em.) 3,50,000 7,0‘0,000 75,000
LDrrgnu@Lb@u_e'i;a;Q&mm@{@@@d@&@(@.) 1 - 7.5 0.1
auLlq QFaesar (ern.) 25,006 40,000 Nil

SiE gendlen oldLienar edene (¢m.) ' 3 25 0.5

The following information relates to Somedev limited :
Earning of the company Rs. 10,00,000

Dividend paid Rs. 6,00,000

Number of shares outstanding 1,00,000

Price earning ratio is 10

Rate of return on investment is 15%

Are you satisfied with the current dividend policy of the firm?
If not, what should be the optimal dividend payout ratio? Use
Walter's model.

Gereuhid saeucser CembCseu eNBIGL L R F1UBSLILIL LS.
Bmiwsder aumeumd ep. 10,00,000

SiafsslulL ukisTETUD 5. 6,00,000

Qeuafluficy 2 arar Litigsaflen eramanflsana 1,00,000

aupeuml efleney &L 10

wadHser Bgrear Smuu eldlsn 15%

BHpiwgdan pLliy ubisTsTw QaTdTans Q@Qﬁmaﬂéé\mgn?
Qoamatueaid 2 sps Qemeiar unsTsTw lfsb WTE? ardLiTe

wepullener LiLIGTU(HSEIS.
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